Warm-Up
1. Factor 5x%y - 65xy> + 200xy

5XY__BXy 5
. Which is a binomial factor M(ﬁ)l:2 + 3{ 14x -7
a. (6x-1) b. (2x )%c (3x+ 1) “




To factor a trinomial of the form x2 + bx + ¢, you must find two integers

FACTORING |, multiply to equal ¢ o, add to equal b
MNOMIAI'S Guided Example: x’ +7x+12 3

of the form | ‘ +
What two integers have a product of 12 and a sum of 72

[x2+bx+c] X—'—LI-

0 Write two binomials usmsthese integers, then distribute to check.
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WATCH THOSE SIGNS!

+/+

v? + 2y + 1
y+1)(y+1)

Signs are the same!
Sign of the middle term.

_/.|.
y? -2y + 1
(y-1)(y-1)

Signs are the same!
Sign of the middle term.

-/ -
n’-n-90
(n-10) (n + 9)

Signs are different!

Biggest factor takes the

sign of the middle term.

+ /-
m?+ 5m - 6
(m+6)(m-1)

Signs are different!

Biggest factor takes the
sign of the middle term.



What if there is a GCF to factor?
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hat is different
about this problem?




2) B ar 5w =p 2 3.) 2y* +9y - 5






